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QUESTION 1

Which HP Provision switch command controls the logging level of messages sent to a syslog server?
A. info-center level

B. logging severity

C. logging-host trap-level

D. syslog severity

Correct Answer: B

Explanation: if your syslog server is at 10.0.0.5 then you would do this:

switch#configure terminal switch(config)#logging 10.0.0.5 Change the severity also depending on your needs
switch(config)#logging severity

QUESTION 2

Which open-standard protocol allows a network administrator to view the running operating system version and IP
address of a neighboring device?

A.STP
B. LLDP
C. ARP
D. CDP

Correct Answer: B

QUESTION 3

Which HP redundancy feature is supported by both HP Provision and HP Comware switches?
A. meshed stacking

B. distributed trunking

C. static link aggregation

D. dynamic LACP

Correct Answer: C

QUESTION 4
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A network administrator has a server with a single link to the network. The company is concerned about redundancy
and wants to implement a solution like that shown in the right-hand side of the diagram.

Which solution meets the company\\'s needs?

A. HP Comware or HP ProVision switches using IRF

B. HP Comware switches using IRF only

C. HP Comware switches using meshed IRF or meshed stacking
D. HP Comware switches using distributed trunking only

E. HP Comware switches using distributed trunking or IRF

Correct Answer: B
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QUESTION 5

What is the console port designation for an HP Comware switch?
A. interface console

B.con 0O

C.aux 0

D. console

Correct Answer: C

QUESTION 6

An administrator is adding an HP Provision switch to an existing OSPF network. The switch has two VLANSs, 10 and 20,
that should be included in OSPF\\'s area 0. The IP address of the switch in VLAN 10 is 10.110.1/24 and in VLAN 20 is
10.1.20.1/24.

Which configuration includes both VLANS in the switch\\'s OSPF routing process?

A = router cspf router-id 10.1.10.1
area 0
vlian 10
vlan 20
exit
exit
B ) ospf 10.1.10.1
area 0
exitc
vlian 10
ip ospf area 0
exit
vlian 20
ip ospf area 0
exitc
C @ ip router-id 10.1.10.1
router ospf
area 0 vlan 10
area 0 vlan 20
exitc
D @ ip router-id 10.1.10.1
router ospf area 0
vlian 10 ip ospf
vlan 20 ip ospf
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 7

Which component of an HP Comware switch controls logging on to a syslog server?
A. Log Parser

B. Event Analyzer

C. Information Center

D. Event Log

Correct Answer: C

QUESTION 8

A network administrator executes this command on an HP switch:

Provision (config)# vlan 11 untag Al

The network administrator immediately realizes that the port that was specified in the command was the wrong port.
Port Al should remain in its original VLAN, VLAN 1. Which command should the network administrator execute to undo
the misconfiguration?

A. vlan 11 tagged Al

B. vlan 1 tagged Al

C. vlan 1 untag Al

D. novlan 11 untag Al

Correct Answer: A

QUESTION 9

A customer must connect networks in two buildings. The buildings are 15 meters apart. The customer does not want the
additional cost of installing fiber between the two buildings and thus is exploring wireless options.

If the customer selects an 802.11n wireless solution, which wireless mode should they use?
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A.inline

B. infrastructure
C. in-cell relay
D. multipoint

Correct Answer: C

QUESTION 10

Which task should a network administrator include in the creation of an upgrade policy?
A. Update network management software before deploying upgrades to network switches.
B. Make a copy of the original operating system.

C. Test the upgrade on a core switch.

D. Read the release notes of the original operating system.

Correct Answer: B

QUESTION 11

A network administrator has an HP Comware switch that is configured with OSPF. The network administrator views the
routing table and sees that a default route was learned from an OSPF neighbor (10.1.1.1). However, the network
administrator wants to override this action and use a different neighbor (10.1.1 2) for the default route.

The network administrator configures this command:

[Comware] ip route-static 0.0.0.0 0 10.1.1.2

After configuring the command, the network administrator examines the routing table and notices that the original
neighbor\\'s default route is still in the routing table, but the static route is missing.

What is the cause of this problem?

A. OSPF routes have a lower precedence value

B. The ip default-gateway command must be used when creating a default route
C. Only one routing protocol can be operational on a Comware device

D. The static route has a syntax mistake

Correct Answer: A

QUESTION 12
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A network administrator is expanding part of the data center in a hospital network. Three new racks of equipment need
to be added, with an HP Comware 5820 series switch at the top of each rack. The Comware 5820 series switch needs
to connect back to two core Comware 12500 switches using 10Gb connections. The distance between the three racks
and the Comware 12500 switches is approximately 40 meters; however, the network administrator is concerned about
electromagnetic and other types of interferences to electrical signals.

Which solutions protect against interference and are cost-effective for this scenario? (Select two.)

A. 10GBase-ZR

B. 10GBase-SR

C. 10GBase-ER

D. 10GBase-LX4

E. 10GBase-T

Correct Answer: BD

QUESTION 13

Which statement is true about the management of HP ProVision and Comware switches?

A. Telnet SSH are enabled by default on Comware switches.

B. Telnet is enabled but SSH is disabled on ProVision switches.

C. Comware switches, by default, store usernames and passwords in a separate configuration file.
D. ProVision switches, by default, store usernames and passwords in a separate configuration file.

Correct Answer: D

QUESTION 14

Refer to the HP Comware configuration. interface vlan 1 ip address 10.1.1.1 255.255.255.0 quit interface vlan 2 ip
address 10.1.2.1 255.255.255.0 quit interface loopback 1

ip address 1.1.1.1 255.255.255.255 quit router-id 1.1.1.1 area 0 network 1.0.0.0 0.255.255.255 network 10.1.1.0
0.255.255.255 The network administrator set up VLAN 2 as a management VLAN. This VLAN should not be included in
the OSPF routing process. Now only directly connected network administrators in VLAN 2 can manage the switch. How
should the network administrator solve this problem?

A. Define the management-vlan 2 command.

B. Change the network command in OSPF.

C. Define the VLAN 2 interface as a silent interface.

D. Define the ip authorized-managers 10.1.0.0/24 command.

Correct Answer: C
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QUESTION 15

Which Intelligent Management Center (IMC) device discovery method is the default for device auto discovery?
A. ARP-based

B. PPP protocol-based

C. network segment-based

D. LDAP-based

Correct Answer: C
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